Quadratic Word Problems (Vertex Form)
· Example 1
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Solutions to Example 1:
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Solutions to Example 2:
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· Example 3
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Solutions to Example 3:
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1/3  The height of the hovercraft at the time of takeoff is given by (D).

2/3  R(0)=-3(0-3)?+108
= 3(9) + 108
—s1

3/3 | Inconclusion, the height of the hovercraft at the time of takeoff is S1 meters.
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‘A hovercraft takes off from a platform.

Its height (in meters), = seconds after takeoff, is modeled by:

h(z) = 3(z — 3)2+ 108

How many seconds after takeoff will the hovercraft land on the ground?

seconds
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1/3  The hovercrait lands on the ground when h(z)

2/3 h(z) =0
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3/3 | Wefoundthat h(z) = Oforz = orz = —3.Since z = 3 doesn't make sense in our

context, the only reasonable answeris = = 0.

In conclusion, the hovercraft will land on the ground after O seconds.
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Acertain company's main source of income is selling socks.

‘The company’s annual profit in millions of dollars) as a function of the price of a pair of socks (in dollars)is
modeled by:

P(z)=-3(z-5)2+12
What is the maximum profit that the company can earn?

million dollars
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“The company's profit is modeled by a quadratic function, whose graph is a parabola.
‘The maximum profit is reached at the vertex.

So in order to find the maximum profit, we need to find the vertex's y-coordinate.
“The function P(z) is given in vertex form.

The vertex of —3(z — 5)% + 12isat (5,12).

In conclusion, the maximum profit is 12 million dollars.
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‘A hovercraft takes off from a platform.

Its height (in meters), = seconds after takeoff, is modeled by:
h(z) = 3(z — 3)2+ 108

What is the height of the hovercraft at the time of takeoff?

meters




